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ol=:

x3 —48x — 128

8% + 64x

305° — 23952 — 50x + 336

x3 — 6_X2 A0+ 192

B8 - 13— 140

N -P

x +x+10

BT —10x+ 7

x* = 1 + 24x— 54

X = 4x* = 6dx + 256

Bt 6+ 125+ 35
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x  —48x— 128 x +x+10

x—8)(x+4)(x+4)

8x° + 64x
8x(x+ 8)

30x° — 239x% — 50x + 336
(5x + 6)(x — 8)(6x— 7)

X — 6x> — 40x + 192
(x—8)(x—4)(x+ 6)

X+ 87 — 13x — 140
x+5x+7Dx—4)

(x+ 2)(x* — 2x+ 5)

X+ 72— 10x+ 72
(x+ 9)(x* — 2x + 8)

X = 1% + 24x — 54
(x— 9)(x* —2x + 6)

X — 4x% — 64x + 256
(x+ 8)x—8)(x—4)

X+ 62 + 12x + 35
(x+ 52 +x+7)
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